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UG (CBCS) IIIrd Year Annual Examination

3065
B.A. ECONOMICS

(Public Finance)
(Common with ECONHA 208) (SEC-2 Iind Year)
(SEC-6)
Paper : ECONA 310

Time : 3 Hours] [Maximum Marks : 70

Note — Attempt five questions in all, selecting one question
from each of the Units I, II, TII and TV. Q. No. 1

is compulsory.
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Compulsory Question
(afard wed)

Answer the following as directed °
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(1)

(i)

(111)

(iv)

(V)
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Objective of private finance is .............. .

(Social welfare, profit maximisation)

st fag &1 RYT o, 4

(Y g AT, G Hedrr)
MSS _curve. Shows: ... 00 social
sacrifice. (Increasing, Decreasing)
INISISEETShs, etdaciness. o s . TSR AT H)
R & (F%d, 5eq)
Private goods are G in nature.

(Rivalrous, non-Rivalrous)

Hi o=y Yol & ... .08 €|
(wfasdl, TR-wfaget)
Tax is not a legal payment. (True/False)
CASE IR 10 G I e
(Hea/ 319 )

Progressive taxation iIs used as an

mvestment to promote equity.(True/False)
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(vi)

(vi1)

(viin)

Tax is not binding for the citizens.

(True/False)
#X AR & fau e T@& )

(Tca/ 794 )
Direct taxes raise the prices of goods.

‘ (True/False)

Jor @ e ® Hwd A 9fs B
g2 ' (¥ STHA)
Impact of a tax refers to the :

(a) Final burden of tax

(b) Initial burden of the tax

(c) No burden of the tax
(d) None of. these
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(ix) Who appoints a finance commission ?

(a) Prime Minister (b) Home Minister

(c) Vice President (d) President

frg oM @ fagfe wiA w § 2
(31) GHTEA (&) TEHA

(@) so-usgdfa (%) TN

(x) Redemption of public debt means :
(a) Repayment of public debt
(b) Management of public debt
(c) Transfer of public debt
(d) None of these
st F ® YIdE Y T
(31) FEStIE T @ SUIE |
(F) FESHF BT HOgEEH
(F) WESHF B F Ewio
ORGEE £ Ix10=10
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(B) Answer the following :

freafafea & S <N .

(i)  What is the importance of public ﬁnanc:e s
o fad & " &1 U SifSd |

(ii) Discuss the concept of market success.
S IO 6l HROT &1 S0 IS

(iii) Distinguish between direct and indirect tax.
TIa] SN ST Y B SF<R T whifel |

(iv) Discuss the effects of public expenditure

on employment. 4
AR T GESR = % ged ard G
i == I | 4x5=20
Unit-I
(gTE-1) 1x10=10
2. Critically examine the.principle of maximum social

welfare.

aﬁmﬂwﬁﬁwwaﬁfa@ﬂﬁm
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Or
(3teram)
Define market success and market efficiency. Do you
agree that goods of the é()llective consumption are an

important source of market failure ?

SINR WHoAl 91 SN Kl i gReifaa sifsu
1 AU $H 910 § HeHd © [ 9reifas 3UHi aref
Fq¢ R fawed # ge w6 ¥ 2 '

Unit-I1

(ZhTE-11) [x10=10
3. Define taxable capacity. What are the Kinds ? Discuss

the factors which determine the taxable capacity of a

country ?
F 3 F awa B IR FGU sER wwR
A1 HIST | Tk Q9 ST HT A i1 &Ha o Fuifa
HH Al qEl B FE Hife |
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Or
(37eran)

What do you understand by shifting of . a fax ?

Explain the important factors which govern the

shifting of a tax ?

Y fagdd ¥ 39 =1 §95d § 2 HL faedd &
Fuiftd +3 o1 9=7 a@ &1 e St |

Unit=IT1
(zehTe-111) 1x10=10

4. Explain the effects of public expenditure on economic

development, employment and prices ?
o fasre, TSR qe SiAdl W gEsiie =39 &
gl i SATEAT hifS | -
Or
(3=
What is publljc debt ? Distinguish between public
and private debt. What is the importance of public

debt in recent time ?
At 0 § 2 dEeiTeh iR S R A SR
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e © 7
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Unit-1V

(3TE-1V) Ix10=10

5. What is fiscal policy ? Explain main objectives of

fiscal policy.

TR A w2 T A B geT sevd
FT FUA iU | :

Or
(3rere)
What do you mean by budget deficit ? Briefly
explain the different types of budget deficit ?
qE AR W H I § 2 fue-fum geR @ wee
IS R Wi s #ifg |
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